Assembly Instructions

TV Lift

CTD-TV

e

ik

=

0
0
o
o
o
o
o
(-]
°
]
o
]
o
o
(]

0000009003000 0000

\ooooo

Please follow these Assembly Instructions.

Please record your serial number in the space provided below and retain this manual for future reference.
This will save you time, make assembly easier and prevent possible damage to the new product.

Assistance may be required for some assembly procedures. Correct assembly is your responsibility.



Hardware List

Gx1

)
- 23
& i =
? %
. A
\\\_?,// <« p \\ a..w
._A@H i Xl X
LN e \\
y
3 4 5
A \ &
© =
>
O EX] =
we A
i o) X
ﬂr .mmv.,
Nt
38 =
% *
T




Installation Steps

1.Assemble the TV mounting bracket and the connecting bracket using
M8x12 screws and M8 nuts as shown in below drawing.

\

X XY )
- ‘ \,ﬁ:—vu:ﬁ;:\\
\
\
3
b

£ A

~—

Pl = = = = a._,g,\_.-——b"‘
\
\

0
/.

X}
\
@ \
\ O\
L
N %
N
L\l\\
\
}7‘
U

Bx1 Dx4 Ex4




Installation Steps

2.Fix the lifting column onto the fixation plate using M6x16 screws.




Installation Steps

3.Fix the connecting bracket onto the lifting column using M6x16 screws
as shown in below drawing




